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	Experiment #1


1. Using a He-Ne laser, choose a point in the beam.  At this point, set up the razor blade on a translation stage with a Newport power meter behind it.  Make certain that the blade will travel perpendicular to the beam.  Take data of power versus the position of the razor blade and determine the spot size of the beam at this particular point.  The beam diameter is the distance on your graph from 3% of the maximum power to 97% of the maximum power.

2. Remove the razor blade assembly and attach a pinhole to the detector head of the Newport power meter.  (Optimization of this system will be desired.)  Place the pinhole/detector assembly on a translation stage and orient it to travel perpendicular to the beam at the same position the razor blade occupied.  Scan across the beam completely, recording power versus position of the pinhole.  Determine the beam diameter from your data (the distance between 1/e2 of the maximum power on either side of the position where the maximum power occurred).

3. Remove the pinhole/detector assembly and place the detector head of the Thorlabs Omega Meter in the beach path such that the spinning cylinder is at the same point in the beam as the razor blade and pinhole.  Be careful with the intensity on this detector!  If you saturate the detector, you may still get a reading but it will be much bigger than the beam really is.  To check if you have an acceptable intensity on the detector, put a ND filter of 0.2 in the beam.  If the beam diameter does not change much, then you are okay.  If it changes significantly, then you need to change the intensity at which you make your measurement.

4. Remove the Omega Meter and place the Cohu camera in the beam path and use the Spiricon software to measure the beam size.  Be careful with the intensity on this camera!  If you saturate the detector, you may still get a reading but it will be much bigger than the beam really is.  If the power is too large, you could damage the camera.  Use neutral density filters to get the camera level to about 249 to 252.  If you want to compare the beam sizes at different positions in the beam using this camera, it is important that the intensity level be the same.
5. Compare all four spot sizes generated by the four different methods.  Discuss any potential problems that might occur with each method.

